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Note :- Attempt all questions.
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General Instructions :-
) . e afk s @ ot Rt rar fRT i gEa A
Use diagrams or flow diagrams if it is necessary.
(i) S A 23 & 26 T & T & e fehed fA Ry 8
In question no. 23 to 26 intemal options are given.
(iii) IR I & T T W S swAieh feafen
Write correct question no. in your answer copy while solving the '
question.

(v) oo i R il I forh

Write the answer of the question paper as instructed.
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*Instruction:
(A) Question No. I to 5 are very short answer type
questions. Each question camries 1 mark. Maximum
word limit is 1 word / | sentence. |

[3fa Sg-3eiT ]
[Very Short Answer Type Questions]

W1 QORI T 3 SteT fae T @ e g #2 | n
The inner wall of pollen grain is made up of which
substance?

w2 it efawife d a9 i)
Who was the founder of green revolution in the world?

WH-3 S EETS DNA T fmtor s it o goim an -
First recombinant DNA was formed in which organism?

w4 v vt Rag & s S & | 1
When is the world environment day celebrated? |

we-5 N.P.P.F@ram fafay 1
Write full name of N.PP,
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Instruction:

(B) Question No. 6 to 10 are short answer type
questions. Each question carries 2 marks. Maximum

word limit of answer is 30 words.

[C1Y ST ¥#)
[Short Answer Type Questions]
w6 fRumsrd? 2]
"~ Whatis Emasculation?
W7 St R &7 sarewr Rl [1+1=2)
What is Adaptive radiation? Write an example.
TS HRFIEHY 2]
What is genetic code?
w9 fRraer St TR Q3 2 g fafie [1+1=2]
' Write any two symptoms of sickle-cell anemia disease.
TH-10  FEifdE st wwel @ & afa fafg [1+1=2]
Write two disadvantages of genetically modified crops.
L-242203/803-C P.T.0.
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Instruction:
(C) Question No. 11 to 22 are short answer type

questions. Each question carries 3 marks. Maximum
word limit of answer is 50 words.
[ I TH]
[Short Answer Type Questions]
o1l ST S S G 3T g WAl i Tl 4l He

T &7

Why is the offsprings produced through asexual
~ reproduction are called clone in organism.

13]

qvA12  Fat we i S e & Y di e ffedn [1+1+1
Wirite any three significance of repmductivé healthina =3]
society.

T¥A-13 o9 T ey Tt o FraTe AT R & gar & ae Jucht 131
et i urt-erar 6 awRy F dae R o T -

When a colour blind woman married with a normal man,
thcnwkommepmgcnyofﬂ:eseparemswiﬂlthehelp

of ray diagram only.

TWA-14 T FRE T ATt R o i ot e fafe (14141
Write any three differences between Dominant factor =3)
and Recessive Factor. '
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a¥i-15

qH-16

¥ 1-17

a¥-18

qH-19

a1-20

TH-21

q¥+-22

7 Feaftad ot 7 87 3aah &id & R forfrg [14+2=3]

What is gene mutation? Write any two causes of it.

g Gad= F gfonfvr = g o fafah @5 3 [142 =3]
Define polyculture and write its significance. (anry two)

gerelf e wifigw foooft ferfian 3]
Wirite short note on Allergy.

i T & @ diw Ie fafen [1+1+1
Wirite any three uses of Gene Cloning ' =3|
AT N R mEF I A Fron srfafan  [142=3)
What is greenhouse effect? Write any two causes of :
greenhouse effect.

SEEAT UE AHE § i i SR fafad [1+1+1
Write any three differences between population and =3)
community.

Y IR o & SRR T F S ARG @ [142=3)

;10

Explain the food chain of a grassland ecosystem with a
ray diagram only.

I e gt 3 uftren wifr iz vt & w4l 13]

- Why the tropical regions show high level of species

richness?
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Instruction:

(D) Question No. 23 is long answer type question. This
question carries 4 marks. Maximum word limit of
answer is 75 words.

GRESERAS
[Long Answer Type Questions) |
weA-23 i fafrcar = o Eide-dufits At arkem [2+24]
A g i Fifsy
What is gene therapy? Illustrate using the example of
adenosine deaminase deficiency.

HYAT

OR
FT., [T qahelen 34T 82 T da1h o 20T ey

(I TR W)
What is recombinant D.N.A. technology? Write its steps.
(any four steps)

i -
(%) T FHiE 24 A 26 T A 909 W & TAF T 9T
5 3w IEfeq & oAt Aftrwaw we-dimr 150 e )

Instruction:

(E) Question No. 24 to 26 are long answer type
questions. Each question cammies 5 marks. Maximum
word limit of answer is 150 words.
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[Long Answer Type Questions]

T4 (A) WA FA S gt FRn = @) 1242+1

foramar stvar &7 W =5

(B) 38 ¢ Sita a1 A ferfiae et amgaeeaif-gawn
T ym T srar

(C) | a1 ¢& Sw fafay

(A) To make curd from milk, why inoculum fluid is
added to 1it? Explain.

(B) Write the name of micro-organism from which
Cyclosporin-A and Stainin arc obtained.

(C) Write one use of Cyanobactenia.
HEqr

OR
(A) TF B H TG IETET FoA T i G A A @

7

(B) It & 7rr Rifag ey et aar <HOmr
TR& T IR R TR

(©) Ve FEw IR

(A) Why pulse crops are advised after paddy crops?

(B) Write the names of those plants from which drugs
‘Smack’ and ‘Manjuana’ are obtained.

(C) Write one use of ‘Azolla’.
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TH-26

[1+3+1

T A= T et s Famtor e @, fofe@ - =5

What is Spermatogenesis? Draw ray diagram only of
Spermatogenesis process and write how many gametes
are formed at the end?

Ferar
OR
FUSIH T &2 HUSHH i ST 7 e (@I AT
1 7 o o ot Fmfor 2 €, R

What is Oogenesis? Draw ray diagram only of
Oogenesis process and write how many gametes are
formed at the end?

TS ¥ S fg v T s A AT dy (1242
T BT H AR v Al - =5
Name the nucleic acid responsible for heredity in human
being. Draw its ray diagram and explain it. |

gy -

OR .

.Y, fcepheror 7 82 Sy, sfosfemor 6
Fregatat fafer s afe avi ifsng
What is DNA Replication? Explain its semiconservative
method with diagram.
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